Maths at AJA
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Assessment:

To monitor pupil attainment and progress, we deliver a range of assessments:

° Termly NFER Assessments.

. Termly Sumdog diagnostic checks

° Termly Times Tables Rockstars baseline checks P~ -
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HTML strategy:

At AJA, we use technology ond our knowledge of computing
to enhance all of our Leaming. Within Maths, we use Times

Tables Rockstars in order to assess and deselop the chil-
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In order to derelop reasoning and problem - solving
across. the Academy, me use an online platform called
‘Sumd.og.’ Thbsisaluwf/siuke/sqmjzdaélzplat{orm
that allows pupils to enhance their skills in maths

We hold mreekly competitions mrithin Sumdog and Times Tables Rockstars. The pupils and classes with the
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language used in a particular area of the subject.
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The main purpose of a working wall is to support children in their current Learning and enable independence. I the
fime is minimised and mwhat is on there is genuinely relevant. Here's an example of a maths working disploy:
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